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Use vectors to find the interior angles of the triangle with the given vertices.

(­2,3), (5, ­ 6), and (10, 13)

Don't overthink it, Steve.  Just put the vectors butt­to­butt to find the angle.

32.68055471

70.55996515

70.55996515 32.68055471 76.75948009
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(5 pts)  A father is pulling his son in a wagon on the beach.
If the angle the handle makes with the ground is
450, and he's pulling with a force of 30 pounds, what
is the work done if he pulls the wagon 100 yards?
Give your answer in foot­pounds, rounded to the
nearest whole number

450

2121.320343
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